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November 25, 2023

Sr: 25112023-3366

MATHS WORKSHEET

l 11-PLUS
- Ele
GENERATOR - GCSES T

1) 2) 849 x 153 3) 849 x 153
Answer: Answer: Answer:
4) 15/ + 15, 5) 3+17x11+16 6) 1000 + 25
Answer: Answer: Answer:
7) Find the mean of the following set of data: 8) Decrease 192 by 1/32 9) Decrease 192 by 1/32
27,11, 17
Answer: Answer: Answer:

10)  (-25) x (-29)

Answer:

11)  (-429) - 679

Answer:

12) 121, 4% 1221,

Answer:

13) 121, 4% 1221,

Answer:

14) Convert the following improper
fraction 15%, + 7%/, ; into amixed
number

Answer:

15) Convert the following improper
fraction 158/, + 7/, into amixed
number

Answer:
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18) 991+ (-907)

Answer:

16) Convert the following improper 17) A number was shared in theratio
fraction 15%/,, + 7%/, ; into amixed 36:2. The smaller share was 45.
number What was the total amount shared?
Answer: Answer: Answer:
19) 400 + 40 20) 'What isthe probability of rolling 21) (-961) + 672
factors of 4.when rolling adice
Answer: Answer: Answer:
22) (-961) + 672 23) A number was shared in theratio 24)  Findthemodeof thefollowing set of detex
45:3. The smaller share was 29. 82,82, 79, 79, 79, 79, 79, 100, 100,
What was the larger amount? 100, 100, 67, 67, 67, 67, 67
Answer: Answer: Answer:
25) Find area of tri ang| e 26) Find the range of the following set of data: 27) 746 x 300
a p h=238cm,a=418 -0.3,18,0
cm,
. b =566 cm, c = 745
cm
Answer: Answer: Answer:
28) 50 X (-45) 29) 50 x (-45) 30) 36/, x18% ¢
Answer: Answer:
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31)  Findtherangeof thefollowing set of data 32) A number was shared in theratio 33) A number was shared in theratio
9,-15, -11, -0.8, 12, -0.7, 0.7, 13, 21:35. The smaller share was 15. 21:35. The smaller share was 15.
15,4,-2 What was the larger amount? What was the larger amount?

Answer: Answer: Answer:

34) Find the mode of the following set of data: 35) (-847) - 389 36) Share 35in theratio 7:28

35, 35, 23, 23, 99, 99, 99, 99, 54,
54, 61, 61, 61
Answer: Answer: Answer:

37) 13 15,4-12 10,

Answer:

38) Decrease72by Y/,

Answer:

39) Decrease72by Y/,

Answer:

40) 74, x151 g

Answer:

4y  273+21

Answer:

42) (14-8+4)+7

Answer:

43)  Simplify 25:45

Answer:

44)  Simplify 25:45

Answer:

45) (14 x 19 + 16) x 132

Answer:
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46)  Convert the following improper
fraction 204, , + 1% into amixed
number

47)

Convert the following improper
fraction 20%, , + 1%/ into amixed
number

48)  (-1406) + (-38)

Answer: Answer: Answer:
49) (-1406) + (-38) 50) (-786) + 111
Answer: Answer:
Total: /50
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1) 2) 129897
8) 186 9) 186

47 47
15) 2247/ 16) 2247/
22) -289 23) 435

16,

29) 30) 6416/

. 25
36)1:34 37) 1%/15,
43)5:9 44)5:9
50) -675

3) 129897
10)

17) 855
24) 79
31) 30
38) 66
45)
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42,

11) -1108
18) 84

25) 67354cm
32) 25

39) 66

46) 221/

Answers:

5)

12) 155147/,
19) 10
26)18.3
33)25

40) 11929/ 4o
47) 224

Sr: 25112023-3366

MERATOR

6) 40
13) 155147/,
2001,

27) 223800
34) 99

41) 13

48) 37

11-PLUS
SATS .
GCSES

7)18.33
14) 2247/
21) -289
28)

35) -1236
42) 17

49) 37
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